, (1995), pp.79-86.]

by T.Koyama



2-1

A dA A
( ) AA
AA= A - A =" dA €
dU —dQ+dW, ( ) @)
dQ <Tds, ( ) ©)
du do  dw
T ds dw
dW =—pdV (p: , dVv: )
dw :indxi, (X,: dx. : ) (4)
=VZUijd€ij , (oy: & Vi ) (5)
(4)(5)
dW = Xdx, dW =Vode ©)
2.2 ( :F=U-TS)
(2)(3)(6)
dF =dU —TdS — SAdT <dU —dQ — SdT =dW — SdT =Vode - SdT @)
(dT =0)



dF <dW =Vode, (= Xdx), (

dw AW,
(AW =AW, +AW,) AW,

« )
AW, (8)
(
(dx=0 de=0)
dF <0, ( )
[ ]
( )
2.3 ( :G=F —-Vog)
dG =dF —Vode —Vdoe
(do=0)
dG =dF —~Vode =dF +dP, ( ())
dP (= -Vodeg) (

dw

(11)

AW,

AW,

(8)

(8)

(9)

(10)

(11)



] (7),(10)

dG <Vode-SdT -Vode -Vedo =-SdT —Vedo (12)
[ ]
( )
g, AW =VEe? /2, (E: )
AW (8) [
] ( )
O-e
Ee ( ) de,
dF =dW =VEegde, (10)
dG =dF +dP =dF —-Vo.de, =VEg,dg, -Vo,de, =V (Eg, —0o,)de, (13)
(G: )
dG
dG >0, ( (14)
(13) de, >0 E¢,—0,>0
de, <0 Ee, -0, <0 de, =0 E¢, -0, =0,
o,,(>0)
AF =(1/2No e, AW,
&, AW, = '[VO'dep =Vo,é,
AW, AW, ( )
AW, >0 AF =0 (8)
( )
(11) (



) de, ,(>0)

dG =dF +dP = —Vaydgp <0

de/dt, (t:

de
G=77E

(14)
)
(16)
(
a

c

—= =1, —<x<1

a’ c? [a j

Eshelby
)AEeI
2\ a3 2
AE, = 81l-v)a’c e
3E
A’

AT =2za’y, (r:

da

dF =dE, +dT

8(l-v?)a’s?

da + 4rayda

(dG > 0)

dP, (< 0)

(15)

(16)

(17)

(18)

(19)

(20)

dE
dG

el



dG = dF +dP = dF - 2dE, = dE, +dI - 2dE, = dT - dE,
2 2 2 2 2
_rayda_ 80V {,W . W} i
dG/da

dG/da
(22)

2 2
9§:4a%w_2a—v)m7}:0
da E

0 TEy
E ’ 2(1-v?)a
(
(21) (22)
h(r:
)
X-y X (y=0)
(=%, — %) ( )T
E,=-ub®,  (u: )
(23)
AE,
) df (0 V]
y="1(9) J{H(—dx j} d
AFAESEOIHL{df(X)jg} _1]dx
dx
X <X <X,
y rhy

(21)

2a

(22)

AF

(24)



AP = —AW = —[ zbydx = —zb| f (x)dx (25)

T | y=0 y = f(x)
AG (11)(24)(25)

AG = AF + AP

= E,[ Hu(dfd(xx)]z} _1]dx—rbj f (x)dx (26)
_ j[EO {1{%}2} _E, — zbf (x)]dx _ I[EO L+ )" -E, —rby}dx

y=f(x), y'=df (x)/dx

y=f(x)
AG (26)
g(y,y’)
9(y,y)=E, {1+ (y )} ~E, — by (27)
AG
909 [99)_g (28)
dx oy’ oy

@7)(28)  y"=d2f(x)/dx?

d 39 8g _il w2 )12 N
oo al e e o0 e -

_ Eo(?—x[y'{lJr(y')z}_l/Z}rrb

-1/2 1 -3/2
=Byt '(——Jl Y} @y) } b
[y{+y} +y 2{+y} vy e s .
:Eo[y"{1+(y-)z}l/Z_(y.)zy--{1+(Y')2}3/2J+Tb

=By L+ (y )] [ () )= (v ) ] e

= Eoy—"+rb=0
{L+(y)’}

E, y="f(x)



(23)
th 2 b 27 Rb 2R
(30) y=f(x) T
|
R R, =1/2
Hb b
max 2Rmin I
Tmax
( ) (
X-y
v
Ee————5+7tb—-7,b=0
{1+ (y"*}
(29) (32)
) ( )
dG dN

1

. _l(d_Gj
1L aN

(29)

(29) R

(30)

(30)

(31)

7, (X, y)
(29)

(31)

bcc

)*( )
dt I

(33)



—

QdN = vadt

(33) (39)

dN afD D a(de
o v - L
dt kT KT 1LdN

(Coble )

2 3
aN=SdL=Lqe
o "o

dG = -L®cde = -0 QdN

1
N

37) (39) (36)

NH a=21%, D=D,(

d

Sl

[

o)
dN

(33)

(Nabarro-Herring(NH)

(15)

dt

de

(34)

(35)

(36)

dN

37)

(38)

(39)



—_— G P, —
keT L kg T
2

3
Qd_N:QLd_g: |_3E
dt Q dt dt
|_3E:4DVLO-Q de 4D, Q

dt kT dt kT
Coble ; W, a=8(w,/2)L, D=D,(
adN_ D a(de) D, oL ) D,
dt kgT | \dN kT 25 kT
2
3
N _LCde_|ade
dt Q dt dt
sde _ 8D, W, Q2 E_E‘DbWbQG
dt kT dt kgTL
(40) (16)
k TL?
77 =
4D, Q
D 7
6-2
o r( V) 22
sink dt dN
dr
dV = QdN = 4xr’dr
dG
(
)
2 2 2y
dG =8zrydr —4zr cdr = —4xr ((7 —Tjdr
l=z(A-1)/2 o = 27w,

9

(40)

(41)

(42)

(43)

(44)



ol __D. ¢(6)
dt keT 1 \d
kgT | r JdN
D, a( 2;/) D,Q2 27rw,
= oO—— | =
keT | r) kT (4-T1)
2
B 47rDbWbQ( r j(a _2_;/)
kgT A-r r
o
(45)
(36)

10

(dV /dt < 0)

(45)

(dV /dt > 0)

(36)



